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1) TRADE THEORY
Question No. 1/ Question ID 51 Marks: 2.00

What is the advantage of the stranded conductor over the solid conductor?
3 TP $I o1 H dg A BT o A1 82
(A) O More flexible (Correct Alternative) (Chosen Option)
3rfere aitel (Correct Alternative) (Chosen Option)
(B) O Costis less
AR HH 3
(C) O More insulation resistance
3{f¥ YR UfaRiY
(D) O Less voltage drop
DHH dlecsl gIU

Question No. 2 / Question ID 101 Marks: 2.00

Which electrical quantity is directly proportional to the eddy current?
DI It fagga IR HaR 4RT &% e rquifas g2
(A) O Current

e
(B) O Frequency (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(C) O Voltage

dreesl

(D) O Resistance
gfeRYy

Question No. 3 / Question ID 267 Marks: 2.00
Where the flexible cords are used in the domestic installation?
TR ST H el St &1 IuanT gl forar ST 82
(A) O In switch box wiring
g dieg a4

(B) O In concealed wiring
FUt g8 IR o
(C) O In portable appliances (Correct Alternative)
o (Correct Alternative)
(D) O In DB box wiring (Chosen Option)
DB S i | (Chosen Option)

Question No. 4 / Question ID 254 Marks: 2.00
What is the expansion of MCB?
MCB & faxdR |1 82

(A) O Minimum Current Breaker
Minimum Current Breaker




(B) O Maximum Current Breaker (Chosen Option)
Maximum Current Breaker (Chosen Option)

(C) O Miniature Circuit Breaker (Correct Alternative)
Miniature Circuit Breaker (Correct Alternative)

(D) O Minute Control Breaker
Minute Control Breaker
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Question No. 5/ Question ID 94
Which factor changes the permeability of a material?
D I HRD (o UG B TRl DI IGardl 67
(A) O Diameter (Chosen Option)
MY (Chosen Option)
(B) O Cross sectional area
1Y YaRd &7
(C) O Flux density (Correct Alternative)
U Ydcd (Correct Alternative)
(D) O Length

Marks: 2.00

Question No. 6 / Question ID 54
What is the use of dipsoldering method?
feuaee i faftr &1 SuahT =11 82
(A) O Piping and cable soldering work

TR SR Had AT & HH

(B) O Soldering of tin sheets
DI s

(C) O Soldering miniature components on PCB (Correct Alternative)

PCB TR BIc-BI¢ UcH| &I WIS (Correct Alternative)

(D) O Hard soldering (Chosen Option)
(Chosen Option)

Marks: 2.00

Question No. 7 / Question ID 152

What is the phase displacement in a single phase AC circuit?

Thd ol AC Hfdhe H Tol faiTa am 87
(A) O 270°
270°
(B) O 90° (Correct Alternative)
90° (Correct Alternative)
(C) O 180° (Chosen Option)
180° (Chosen Option)
(D) O 120°
120°

Marks: 2.00

Question No. 8 / Question ID 200

What is the value of phase current if the line current is 20 Amp in delta connection?

I ST B H 89 HRC 20 TRRR g d B Hic ] A HT 2?2

(A) O 10A
10 A

Marks: 2.00




(B) O 11.55 A (Correct Alternative)

11.55 A (Correct Alternative) www.globaliti.org
(C)O 156A

15.6 A
(D) O 20 A (Chosen Option)

20 A (Chosen Option)

Question No. 9 / Question ID 88 Marks: 2.00
What is the unit of permeance?
R 3T SHIS FT 572
(A) O Weber / Ampere turns (Correct Alternative) (Chosen Option)
Weber / Ampere turns (Correct Alternative) (Chosen Option)
(B) © Ampere - turns
Ampere - turns
(C) O Ampere turns / Weber
Ampere turns / Weber

(D) O Weber/ Square metre
Weber / Square metre

Question No. 10 / Question ID 439 Marks: 2.00
Why the primary of the potential transformer is wound with thin wire and large number of turns?
faua TIIwIER &1 ufiie IR Udd dR SR Sot Wen § grTa I 3} duel Sidl g2
(A) O To offer low impedance

D YT GG B & ferg
(B) O To decrease the secondary current
fgdige Hic HH DA & forg
(C) O Toincrease the primary current
Ufi® e ggM & fo
(D) O To offer high impedance (Correct Alternative) (Chosen Option)
SH WU & ﬁ‘l’[{ (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 204 Marks: 2.00
What is the function of fine selector switch in battery charger?

Sl IRk & g o g &1 s |1 82
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ELNY1M5208

UL Z0W

ELNY1M5208

(A) O Selection of voltage range (Chosen Option)
dlecsl TR &1 gATd (Chosen Option)
(B) O Selection of charging method
3133 fafd &1 g1g
(C) O Selection of charging time
3{TARH GHY BT gATd
(D) O Selection of current rating (Correct Alternative)
TR ST BT g-Id (Correct Alternative)

Question No. 12 / Question ID 213 Marks: 2.00
Which is used as an electrolyte in lead acid battery?
I o O H faggd siaued &t aRg a1 SUTNT faa oIt 872
(A) O Hydrochloric acid
&
(B) O Potassium hydroxide
BIEEEENESIERIES]
(C) © Ammonium chloride
SHIATH FIRTES
(D) O Diluted sulphuric acid (Correct Alternative) (Chosen Option)
dq '\HW 3T (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 362 Marks: 2.00




Which quantity is measured by an electrodynamo type instrument?
Teh SAdeISIATH! YR & IUDHRUN R b g HIET &1 HIUT STl 87 www.globaliti.org
(A) O Power (Correct Alternative)
(Correct Alternative)
(B) O Capacitance

(C) O Resistance (Chosen Option)
Y (Chosen Option)
(D) O Speed
s

Question No. 14 / Question ID 386 Marks: 2.00
Which formula is used to calculate the heat generated as per Joules law?

S[d & 8 & SR SO THI &1 TUHT B o 1o b I3 &1 IUanT faa Sira g2

(A) O Heat generated = IRT / J cal
Heat generated = IRT / J cal

(B) O Heat generated = IR2T / J cal
Heat generated = IR2T / J cal
(C) O Heat generated = I1°RT / J cal (Correct Alternative) (Chosen Option)
Heat generated = I2RT / J cal (Correct Alternative) (Chosen Option)
(D) O Heat generated = (IR)2 T/ J cal
Heat generated = (IR)2 T/J cal

Question No. 15/ Question ID 202 Marks: 2.00
How the capacity of the batteries are specified?
SRl Bt &mar Ho Huffed @1 ot 82
(A) O Watt
Watt
(B) O Ampere hour (Correct Alternative)
Ampere hour (Correct Alternative)
(C) O Volt (Chosen Option)
Volt (Chosen Option)

(D) O Volt Ampere
Volt Ampere

Question No. 16 / Question ID 252 Marks: 2.00
What is the maximum PVC conduit size to make safe cold bending?
R 381 HreA & fore dah el &1 i PR 1 82
(A) O 12mm
12 mm
(B) O 25 mm (Correct Alternative)
25 mm (Correct Alternative)

C©)O 19mm
19 mm

(D) O 50 mm (Chosen Option)
50 mm (Chosen Option)

Question No. 17 / Question ID 356 Marks: 2.00
What is the unit of sensitivity in voltmeter?

diccHier # Haa-TRiierd b1 $hbTs o1 g2




(A) O Ohm/metre

Ohm / metre www.globaliti.org
(B) © Ohm metre

Ohm metre
(C) O Volt/ohm

Volt / ohm

(D) O Ohm / volt (Correct Alternative) (Chosen Option)
Ohm / volt (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 388 Marks: 2.00
What is the function of the neutral conductor in AC supply system?
AC 3MTfdt Tomelt H ed dredex &1 ol B g2
(A) O Provides the return current path (Correct Alternative)
f¥e oic vy yeH Heal % (Correct Alternative)
(B) O Reduces the voltage drop in wiring
AT # diees ST I HH Bl §
(C) O Increases the voltage level
dieesl &R §¢IdT 8
(D) O Maintains the load current constant (Chosen Option)

S PHe P fRR I9TE [T 8 (Chosen Option)

Question No. 19 / Question ID 266 Marks: 2.00
Which type of relay can be operated on both A.C and D.C supply?
{5 THR &1 KA A.C 3R D.C T Tws W Aanferd far S T g2
(A) O Thermal relay

(B) O Impulse relay (Correct Alternative)
& (Correct Alternative)
(C) O Ferred relay (Chosen Option)
e (Chosen Option)
(D) O Dry reed relay
Js Ra

Question No. 20 / Question ID 323 Marks: 2.00
What is the unit of luminous efficiency?
THDGR T&I P DTS T 62
(A) O Lumen/watt (Correct Alternative)
Lumen/watt (Correct Alternative)
(B) O Lux (Chosen Option)
Lux (Chosen Option)

(C) O Lumen/m?
Lumen/m?2

(D) O Lumen
Lumen

Question No. 21 / Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?

T TR TR SETARM & SR BT TS0 B & foIE oy SUHRUT HT ITART foam STt 82
(A) O Multimeter
HecHICR




(B) O Series type ohmmeter (Chosen Option)
9uft UHR 3f1gT HIex (Chosen Option) www.globaliti.org
(C) O Megger (Correct Alternative)
(Correct Alternative)
(D) O Shunt type ohmmeter
T YR 3g HicR

Question No. 22 / Question ID 156 Marks: 2.00
What is the purpose of the phase sequence meter?
ol 3IehH HieR P 35T T 82
(A) O To indicate the phase sequence of 3 phase system (Correct Alternative)
3 ol YUTTeN & TR0T P H 3 gﬁﬁr PP ﬁl‘l'{ (Correct Alternative)
(B) O To protect the motor against short circuit fault
HIeY 1 21E widhe qy A s & forg
(C) O To control the speed of 3 phase motor (Chosen Option)
3 Wﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁ%%ﬂ Chosen Option)

(D) O To measure the voltage of 3 phase system

3 Tool YUITel! @ dleesl ol AT & g

Question No. 23 / Question ID 47 Marks: 2.00
What is the name of the soldering method as shown in the figure?

o & g2is s Qe fafy &1 am = 82

(A) O Temperature controlled soldering (Correct Alternative)
arqaTE e Siesfr (Correct Alternative)
(B) O Dip soldering (Chosen Option)
(Chosen Option)
O Solderlng with blow lamp
& 1Y s

(D) O Soldering with soldering gun
e 79 & F1y AR

Question No. 24 / Question ID 337 Marks: 2.00
Which is proportional for the deflection of ohmmeter needle in earth resistance tester?
gt UfoRTY e § Siigriiex g & fa&yu forad Sigurfae g2
A) O Ratio of the current in two coils (Correct Alternative)

[ TRT &1 S{JUTd (Correct Alternative)
B) O Current in potential coil
fava dedt H 4RI
C) O Speed of the handle rotation (Chosen Option)
H;Uﬁ CHRIIG] (Chosen Option)
(D) O Currentin current coll
YR pecll F 4RI




Question No. 25/ Question ID 76 Marks: ?%p liti.or
What is the formula for the equivalent resistance (Ry) of the three resistors R¢, Ry & Rgva S N Il

parallel?

TR H IS I UfRIUD! Ry, R, 3R Ry & JATe™ UfoRIY (Ry) BT G T 872
AO o 1
e+
Ri=Fo Ry

Ry = —=*——+*—|(Correct Alternative) (Chosen Option)

R mis—se—ae— (Correct Alternative) (Chosen Option)

R,==
(D) O Rr=Ri+Ry+R3
RT=R1+R2+R3

Question No. 26 / Question ID 371 Marks: 2.00
Which power of AC supply is measured by the wattmeter?
AC 3MTYfcf Bt B Tt Rfa arediiex gRT AT St g2
(A) O True power (Correct Alternative) (Chosen Option)
wfed (Correct Alternative) (Chosen Option)
(B) O Instantaneous power

(C) O Reactive power
LIGIERICIERIES!

(D) O Apparent power
R3]

Question No. 27 / Question ID 166 Marks: 2.00
What is the ratio between the peak value and RMS value?
RRER 7 3R RMS A & o9 &1 SuTd 1 872
(A) O Effective value

YA G
(B) O Peak factor (Correct Alternative)
M Bhaer (Correct Alternative)
(C) © Form factor
WIH haex
(D) O RMS factor (Chosen Option)
Rms Taex (Chosen Option)

Question No. 28 / Question ID 154 Marks: 2.00
What is the formula to calculate the line current (IL) of R-C parallel circuit as shown in the figure?

for 7 faTT SR R-C THIR URUY &Y A1 YR (IL) &Y ITUFT 3 &1 G 31 82 (o 1 &1 IL H 9aa)
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(A)

O II_=IR2_ [02 (Chosen Option)

I|_=IR2— [Cz (Chosen Option)

(B) O I, =L +1o
I =l +c
©)O 1=,

(D) O

T rZ +1:2 | (Correct Alternative)

T rZ +1c2 | (Correct Alternative)

Question No. 29 / Question ID 297 Marks: 2.00
Which is employed in circuit breaker for the thermal over load protection?

i SR TS YR&M & o Ffdhe sax o foraas! IuanT farar Sran g7
(A) O Magnetic repulsion
] EIREA |

(B) © Mechanical vibration
it B

(C) O Bimetallic strip (Correct Alternative) (Chosen Option)
%ﬁﬂﬁ 1Tlébf (Correct Alternative) (Chosen Option)




(D) O No volt coll
diee H& Tel

www.globaliti.org

Question No. 30 / Question ID 127
Which factor is determining the value of capacitance in capacitor?

e & iR BT A S T HR&b Ufd Har g2
(A) O Thickness of the plates

(B) O Volume of the plates (Chosen Option)
WIel &1 3d (Chosen Option)

(C) O Weight of the plates
ISEEIRIIN

(D) O Area of the plates (Correct Alternative)
wWel &7 &% d (Correct Alternative)

Marks: 2.00

Question No. 31/ Question ID 417

Which is determined by the crackle test of transformer 0il?
CIIBTHR dd & shebel URI&IUT gRT fohdepT FiRuT fobam wirett 7
(A) O Viscosity

AT
(B) O Dielectric strength (Chosen Option)

< Ifad (Chosen Option)

(C) O Acidity

ST
(D) O Moisture (Correct Alternative)

et (Correct Alternative)

Marks: 2.00

Question No. 32 / Question ID 96
Which is an application of series circuit?
IRiet fdhe &1 ST SIF T 82
(A) O Electrical lamp in homes
7 H1
(B) O Voltmeter connection
DA

(C) O Shunt resistor in ammeter

3{Hier ¥ Tie ufcRiy®
(D) O Fuse in circuit (Correct Alternative) (Chosen Option)

A WSl (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 33 / Question ID 418
Which type of emf is induced in an auto transformer?
3{fe) TRIHTHR H e UHR &1 emf TR i1 82
(A) O Mutually induced emf (Chosen Option)
emf (Chosen Option)
(B) O Self induced emf (Correct Alternative)
a4 UR¥d emf (Correct Alternative)

(C) O Dynamically induced emf
TTfa=id U ¥ URd emf

Marks: 2.00




(D) O Eddy current emf
TSl YRT emf

www.globaliti.org

Question No. 34/ Question ID 5
What is the use of the pincer?
IR &1 1 U 82
(A) O Cutting larger diameter of wires
IR & IS A B Blel
(B) O Twisting the flexible wires
TRifeaad dR &1 fgee =T
(C) O Holding small objects, where finger cannot reach (Chosen Option)
a%] Udh 1, T8I &Il 4 Ugd Udh (Chosen Option)
(D) O Extracting the pin nails from the wood (Correct Alternative)

adel U | fU 9yt #id AT (Correct Alternative)

Marks: 2.00

Question No. 35/ Question ID 344
Why the pointer is anywhere on the scale as the megger is kept idle?
TR & (AR g T R YE@d Wd R Fal Wi Ff |1 82
(A) O The deflecting torql%e is directly proportional to the current
YRT

Marks: 2.00

(B) O The deflecting torque is directly proportional to the square of the current (Chosen Option)

faae SaTgUl YRT % a7 & FHTIYTT § (Chosen Option)
(C) O Itis not having controlling Torque (Correct Alternative)

g TSWITE{UT o1 it T8 & T@T § (Correct Alternative)
(D) O Provided with air friction damping

gaT gy SR UgH 3

Question No. 36 / Question ID 65
What is the disadvantage of solid conductor compared to stranded conductor?
WS HSdeR B J H 31 Hadex &1 ITHAM T g7
(A) O Lessrigidity
hH
(B) O Low melting point
CLRINEICY
(C) O Low mechanical strength
CLRIECANIC
(D) O Less flexibility (Correct Alternative) (Chosen Option)
Y gdiaT (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 37 / Question ID 10
What is the name of the file as shown in the figure?

o  fewae 71w g & A @ 82

Marks: 2.00




(A) O Curved cut file (Chosen Option)
oS PHe bIgcl (Chosen Option)
(B) O Single cut file
RiTTe B wgd
(C) O Double cut file
S hc BhIgd
(D) O Rasp cut file (Correct Alternative)
I Fc WILd (Correct Alternative)

www.globaliti.org

Question No. 38 / Question ID 122
What is the similar term in magnetic circuit for “conductance” in electrical circuit?
fagga uRuy ¥ rawdr & fore dewig uikuy & 9 Wee 1 872
(A) O Permeance (Correct Alternative)
[ (Correct Alternative)
(B) O Reluctivity (Chosen Option)
(Chosen Option)

(C) © Permeability

Rivdfferct

(D) O Reluctance

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 454
What is the value for specific heat of water?

U &) fafse 3w &1 91 |/ 82

(A) O 1 (Correct Alternative)
1 (Correct Alternative)

(B) O 4 (Chosen Option)
4 (Chosen Option)

(C) O

2
2
D)o 3
3

Marks: 2.00

Question No. 2 / Question ID 451
What is termed as the quantity of matter contained in a body?
axg # fAfed gard &) AE & 1 Hel S 82
(A) O Density (Chosen Option)
Y (Chosen Option)
(B) O Volume
A
(C) O Specific gravity
fafry Tea
(D) O Mass (Correct Alternative)
SIHT (Correct Alternative)

Marks: 2.00

Question No. 3/ Question ID 453
What is the S.I unit of heat?

SN B T, 3MTS. SHTS 1 87

Marks: 2.00




(C) O
(D) O

Centigrade heat unit
Centigrade heat unit

British thermal unit
British thermal unit
Calorie (Chosen Option)
Calorie (Chosen Option)

Joule (Correct Alternative)
Joule (Correct Alternative)

www.globaliti.org

Question No. 4 / Question ID 445
How many millimetres are there in 1 inch?

139 ¥ fopam fircfifier gla 82

(A) O
(B) O
(C)O
(D) O

2.54 mm
2.54 mm

24.5 mm (Chosen Option)
24.5 mm (Chosen Option)
25.4 mm (Correct Alternative)
25.4 mm (Correct Alternative)

2.45 mm
2.45 mm

Marks: 2.00

Question No. 5/ Question ID 455
What is the boiling point of water?
U} &1 F9Uih T BldT 82

(A) O

(B) O

(C)O

(D) O

32°C

32°C

100°C (Correct Alternative)
100°C (Correct Alternative)
0°C

0°C

212°C (Chosen Option)
212°C (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 446
Convert decimal 0.000659 to fraction?
0.000659 XA N B AR 4 H dgeai?

(A) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Marks: 2.00




(€)O

(D) O

www.globaliti.org

3) ENGINEERING DRAWING

Question No. 1/ Question ID 470
Identify the conventional symbol of material?

A &b URURS Udieh Bl Ugar?

(A) ©O Wood
qBS!
(B) O Steel (Chosen Option)
WId (Chosen Option)
(C) O Glass
CaE)

(D) O Concrete (Correct Alternative)
(Correct Alternative)

Marks: 2.00

Question No. 2 / Question ID 465
Identify the name of set square?
e THRR BT A1 Gloi?

Marks: 2.00




(A) O 30° set square
30° I WHIR

(B) O 15° set square
15° YT WHRR

(C) O 60° set square
60° TT WHRR

(D) O 45° set square (Correct Alternative) (Chosen Option)
45° TYT TPTUR (Correct Alternative) (Chosen Option)

www.globaliti.org

Question No. 3 / Question ID 473
Identify the name of prism?

fomr & feRame Tu firow &1 9 @ 82

Marks: 2.00




www.globaliti.org

(A) O Triangular prism

(B) O Hexagonal prism (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(C) O Square prism
TR fUH

(D) O Pentagonal prism
GaohIuiy firen

Question No. 4 / Question ID 478 Marks: 2.00
Identify the name of tool?
SUDU hT [TH HE;tII"I".?




www.globaliti.org

(A) O Combination spanner

(B) O Open end spanner (Correct Alternative) (Chosen Option)
US R (Correct Alternative) (Chosen Option)
(C) O Adjustable spanner
RIS TR

(D) O Ring spanner
Tl O

Question No. 5/ Question ID 464 Marks: 2.00
Identify the name of instrument?

3 ¥ fe@TE T8 IuSRON & 19 P UgaH He?




(A) O 'T'square (Chosen Option)
¢ WHRR (Chosen Option)
(B) O Setsquare

(C) O Protractor (Correct Alternative)
dTql (Correct Alternative)

(D) O French curve
PARINIGED

www.globaliti.org

Question No. 6 / Question ID 474
Identify the name of tool?
JUSH BT A1 TgarH?

Marks: 2.00




(A) O Try square (Correct Alternative) (Chosen Option)
av.:s‘ ) {[ﬁ'&T (Correct Alternative) (Chosen Option)
(B) O Surface gauge
g 1Y &1 I
(C) O Feeler gauge
WIER T

D) O éteel rulé
LI =d

www.globaliti.org

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 584
Which one is a “don’t” in interview etiquette?
geveg Ufedhe H “don’t’ &1 §7
(A) O Proper eye contact (Chosen Option)
&ném%ae (Chosen Option)

(B) ©O Be confident

STHTIYT G
(C) O Lie about your abilities to get job (Correct Alternative)

CICTIRNIEE D ﬁ‘l’l! 3T ATl & IR A ) CIL] (Correct Alternative)
(D) O Dress appropriately

1% &1 9 HUS Tg

Marks: 2.00

Question No. 2 / Question ID 652
Which one is an input device?
P U 3YC a5 82
(A) O Speaker
TR

Marks: 2.00




(B) O Printer
fleR
(C) O Monitor

(D) O Joystick (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

www.globaliti.org

Question No. 3 / Question ID 665 Marks: 2.00
contains one or more worksheets.
T T T HfYP HRUAS gid g |
(A) O Workbook (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Workfile
(C) O Document
(D) O Address bar
BRI
Question No. 4 / Question ID 592 Marks: 2.00
Which one is NOT an article?
9 A o e féad T8 872
(A) O the
the
(B) O in (Correct Alternative) (Chosen Option)
in (Correct Alternative) (Chosen Option)
(C) O an
an
D) O a
a
Question No. 5/ Question ID 503 Marks: 2.00
Choose suitable “wh” word for the given sentence. “ animal do you like?”
fau 7T gty o foIe Iuged “wh” Xsg g | animal do you like?”
(A) O Why
Why
(B) O Which (Correct Alternative) (Chosen Option)
Which (Correct Alternative) (Chosen Option)
(C) O Where
Where
(D) O When
When
Question No. 6 / Question ID 526 Marks: 2.00

Which is a silent letter in the word “ANSWER”?
“ANSWER” /e H ®I9 I Jdh 31&R 82
() O R

R

(B) O W (Correct Alternative)
W (Correct Alternative)




(©)O S

S www.globaliti.org

(D) O E (Chosen Option)
E (Chosen Option)

Question No. 7 / Question ID 605 Marks: 2.00
Women are soft-spoken and forgiving
AfgATg ggHTH SR eF=Ad Bl ... |
(A) O always true
EERIRSE)
(B) O always false
SO T
(C) O sometimes
HUl-B
(D) O gender stereotype (Correct Alternative) (Chosen Option)
foir w=fearfedr (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 617 Marks: 2.00
A program that infects other program by modifying them is called
TS UM, S 31 T &1 SN FXh S5 b Hd Bl 8, BY ............ BRI ST R |
(A) O note pad
e IS
(B) O virus (Correct Alternative) (Chosen Option)
dIaY (Correct Alternative) (Chosen Option)
(C) O web page
CERE|

D) O gntivirus

ARy

Question No. 9 / Question ID 593 Marks: 2.00
Which one is NOT an element of 3P’s of public speaking?
9 3 ¥ B ufster RRfifhT1% 3 P &1 d T2 82
(A) O Prepare
Prepare

(B) O Perform
Perform

(C) O Posses (Correct Alternative)
Posses (Correct Alternative)

(D) O Practice (Chosen Option)
Practice (Chosen Option)

Question No. 10 / Question ID 490 Marks: 2.00
Ethics means
Afdear et g

(A) O not relevant to society

AT O F&fd g 8

(B) O decide what is right and wrong for a human conduct (Correct Alternative) (Chosen Option)
T9 B3 {5 AT raRUr & fore o [l 8 3NR T 71Ad (Correct Alternative) (Chosen Option)

(C) O name of a city
Udh R[GX D[ —TH




(D) O employability skills
RAITR BT www.globaliti.org

Question No. 11 / Question ID 537 Marks: 2.00
Word that is pronounced the same as another word but differs in meaning is called
JE G S fohdlt gk eg o UM BT 7, Afde 31 & g gran g, o Hel SIdl §

(A) O homophone (Correct Alternative) (Chosen Option)
(b1 (Correct Alternative) (Chosen Option)
(B) O diphthong
YR IR
(C) O syllable
RIEARY
(D) ©O homograph

Question No. 12 / Question ID 690 Marks: 2.00
Based on the information that you get through probing, you will be in a better position to make .
ST & GRM 3MTUP! S THGRI el 5, 39D YR TR 3 S Bt dgeR fRufd d g

(A) O Effective problem solving (Chosen Option)
HTIT HT JHIY (Chosen Option)

(B) O No Progress
P13 TR Tt

(C) O Build friendship
FUSIEELY

(D) O Proper product suggestions (Correct Alternative)
3frd ST gTd (Correct Alternative)

Question No. 13 / Question ID 546 Marks: 2.00
The word 'when' denotes
Teg 'when (ST§) ! AT §
(A) O place
R

(B) O person
i

(C) O time (Correct Alternative) (Chosen Option)
HHY (Correct Alternative) (Chosen Option)

(D) O thing
EIS

Question No. 14 / Question ID 594 Marks: 2.00
Which one is NOT an essential characteristic to achieve success?
THAAT U B & ot B T I D TeI0T gl 872
(A) O Unethical work (Correct Alternative)
YFd TP (Correct Alternative)

(B) O Integrity (Chosen Option)

?;Eﬁﬁ'@f (Chosen Option)
(C) O Confidence

TATIY




(D) O Commitment

www.globaliti.org

Question No. 15/ Question ID 616
A computer system consists of
HYR YU H ........... ek
(A) O mouse and keyboard
H3Y qYl dlale
(B) O circuit diagram
gidhe STUTH (3M%E)
(C) O software and program
G ITR U1 WUTH
(D) O hardware and software (Correct Alternative) (Chosen Option)

E'Iéa'q'\’ TUT AT daR (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 16 / Question ID 613
Which is not the online payment App?
DI T AT YA App 7ol 872
(A) O PhonePe
PhonePe
(B) O Paytm
Paytm
(C) O India Pay (Correct Alternative) (Chosen Option)
India Pay (Correct Alternative) (Chosen Option)
(D) O Google Pay
Google Pay

Marks: 2.00

Question No. 17 / Question ID 619
An illegal activity committed on the internet is called
ST W BT 75 U 3fay M &Y ... FEIAC G |
(A) O cyber crime (Correct Alternative) (Chosen Option)
gTgdR PIgH (SURTY) (Correct Alternative) (Chosen Option)
(B) O social networking

(C) O virus
araRy

(D) O search engine
SEESE

Marks: 2.00

Question No. 18 / Question ID 701
NAPS Stands for
NAPS & Hddd
(A) O National Appointment Promoting Scheme
National Appointment Promoting Scheme

(B) O Non Apprenticeship Promotion Scheme
Non Apprenticeship Promotion Scheme

(C) O National Advertising Promotion Scheme
National Advertising Promotion Scheme

Marks: 2.00

(D) O National Apprenticeship Promotion Scheme (Correct Alternative) (Chosen Option)
National Apprenticeship Promotion Scheme (Correct Alternative) (Chosen Option)




Question No. 19 / Question ID 637
What is a shortcut key for “Copy” command?
"B HHIS & AT Aicdhe P (Hoit) 7T &2
(A) O Ctrl+A
Ctrl +A
(B) O Ctrl+V
Ctrl +V
(C)O Ctrl+X
Ctrl + X

(D) O Ctrl + C (Correct Alternative) (Chosen Option)
Ctrl + C (Correct Alternative) (Chosen Option)

whew gfobaliti.org

Question No. 20 / Question ID 498

To grow yourself you must

3T 31U 1 faehRd B o fo1T Sl =13y ... |

(A) O know your country
30U = B S

(B) O know your office
3T AT PI o

(C) O know yourself (Correct Alternative) (Chosen Option)
Ya CakvIE] (Correct Alternative) (Chosen Option)

(D) O know your institute
3T TR B S

Marks: 2.00

Question No. 21 / Question ID 685
What does 'A' in SMART stand for?
SMART # 'A' &1 37 31 82
(A) O Action (Chosen Option)

Action (Chosen Option)
(B) O Ambitious
Ambitious
(C) O Awareness
Awareness

(D) O Achievable (Correct Alternative)
Achievable (Correct Alternative)

Marks: 2.00

Question No. 22 / Question ID 557

Which of the following is true about stress?

a1a & IR & T8t afared o 9 o @ 57

(A) O Stress can be managed (Correct Alternative)
119 P USRI forar T JHdT § (Correct Alternative)

(B) O Stress cannot be controlled
RRIEEIRRIECEFHACRICIRCl)

(C) O Stress can not be decreased
I1d HH 81 81 bl

(D) O All of the above (Chosen Option)
SR & gt (Chosen Option)

Marks: 2.00

Question No. 23 / Question ID 507

Marks: 2.00




Choose the correct tense of the verb. “I music when | was child”

fobar &1 gl 1 I | “| music when | was child” www.globaliti.org
(A) O am learning

am learning
(B) O learn

learn

(C) O had learnt (Correct Alternative) (Chosen Option)
had learnt (Correct Alternative) (Chosen Option)

(D) O will learn
will learn
Question No. 24 / Question ID 680 Marks: 2.00

Which one is a correct channel through which marketers can reach customers?
DI I TH et I g forads H1ed § F6R AEH! ddb Ugd Gabdl 82

(A) O Manufacturer — Retailer — Customer — Wholesaler
Manufacturer — Retailer — Customer — Wholesaler
(B) O Manufacture— Retailer — Wholesaler — Customer (Chosen Option)
Manufacture— Retailer — Wholesaler — Customer (Chosen Option)
(C) O Manufacturer — Customer — Retailer
Manufacturer — Customer — Retailer

(D) O Manufacturer — Retailer — Customer (Correct Alternative)
Manufacturer — Retailer — Customer (Correct Alternative)

Question No. 25 / Question ID 489 Marks: 2.00
Jobs that have become outdated in the past 5 years
......... Mot S fwd 5 a5t & R 81 e 7
(A) O uber

JR
(B) O ola (Chosen Option)
e (Chosen Option)
(C) O STD booth (Correct Alternative)
STD gY (Correct Alternative)
(D) O swiggy
Swiggy




